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M(Tobit Regression)

Coef.

0.159635
-12.08379
1.882976
-11.57158
-2.086857
1.947125
-0.381991
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-0.30454
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:
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1.174866
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Std. Err.

0.543926
2.701718
1.640299
3.402117
1.386348
3.986215
0.579055

1.518265

2.221529

.000***
0.257
0071**
0.133
0.625

0.51

0.841

[

dy/dx
0.054296

-4.11
0.640447
-3.93578
-0.70979
0.662265
-0.12992

-0.10358

0.399601

g lk=0)

V4
0.29

-4, 4%
1.15
-3.4%*
-1.51
0.49
-0.66

-0.2




Chi-square
number of obs

Log likelihood
*p<.05, **p<.01, ***p<.001

Coef.

8.824008
2.440996
-4.965516
5.420698
0.000832
-0.065377
2.105311
6.25878

8.183388
-32.26165

—

M(Tobit Regression) 2! o2t 24t

Std. Err. t P>|t|

1.941851 4.54 .000***
1.673221 1.46 0.145
1.643886 -3.02 .003**
1.749715 3.1 .002**
0.001343 0.62 0.536
0.047145 -1.39 0.166
2.645533 0.8 0.426
1.709287 3.66 000***

3.277456 2.5 013*

36.53928 -0.88 0.377

144 77 %x*

973
-2559.918

Szt

dy/dx
3.001263
0.830243
-1.68889

1.843771

0.000283
-0.02224
0.716068
2.128765

2.783372

z
4,57
1.46
-3,02%*
3.11%

0.62
-1.39
0.8
3,67+

2.5*
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